ALGEBRA CW 3.1
____
1.
Describe how the graph is like the graph of y = | x | and how it is different.
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	A.
	The graphs have the same y-intercept. The second graph is steeper than y = | x |.

	B.
	The graph is the same as y = | x |.

	C.
	The graphs are the same shape. The y-intercept of y = | x | is 0 and the x-intercept of the second graph is –4.

	D.
	The graphs are the same shape. The y-intercept of y = | x | is 0 and the y-intercept of the second graph is –4.


____
2.
Use a graphing calculator to find the solution of the system.
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	A.
	(0, 0.17)
	B.
	(5, 6)
	C.
	(–5, –4)
	D.
	(–1.5, 0)


For questions 3-5, graph each system on the TI. Tell whether the system has no solution, one solution, or infinitely many solutions.
____
3.
y = 5x – 4

y = 5x – 5

	A.
	no solutions

	B.
	one solution

	C.
	infinitely many solutions


____
4.
y = x + 4

y – 4 = x

	A.
	infinitely many solutions

	B.
	no solutions

	C.
	one solution


____
5.
y = 2x – 3

y = –x + 3

	A
	one solution

	B.
	no solutions

	C.
	infinitely many solutions


For questions 6-7, solve the system of linear inequalities by graphing.
____
6.
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	A.
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	C.
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	B.
	[image: image10.emf]O

2 4 –2 –4 x

2

4

–2

–4

y


	D.
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____
7.
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	A.
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	C.
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	B.
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	D.
	[image: image17.emf]O

2 4 –2 –4 x

2

4

–2

–4

y




For questions 8-9, write a system of inequalities for the graph.
____
8.
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	A.
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	C.
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	B.
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____
9.
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	A.
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	B.
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For questions 10-13, write an equation for each translation of [image: image36.png]


.

10.
2 units up

11.
4.5 units up

12.
6 units left

13.
16.5 units right
For questions 14-16, sketch the graph of each equation by translating y = | x |.

14.
y = | x + 6 |


15.
y = | x | – 5

16.
y = | x – 3 | – 4

17.
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Bella wants to write two equations to model the streets on this map. She can use y = x – 4 to describe Platte Way. Find one absolute value equation to describe Marteen Rd and Smith St.

18.
Tom has a collection of 30 CDs and Nita has a collection of 18 CDs. Tom is adding  CD a month to his collection while Nita is adding 5 CDs a month to her collection. Solve a system by graphing on the TI to find the number of months after which they will have the same number of CDs. Let x represent the number of months and y the number of CDs.

19.
Kendra owns a restaurant. She charges $1.50 for 2 eggs and one piece of toast, and $.90 for one egg and one piece of toast. Solve a system of equations by graphing on the TI to determine how much she charges for each egg and each piece of toast. Let x represent the number of eggs and y the number of pieces of toast.
Solve the system of equations in questions 20-22 by graphing on the TI.


20.
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21.
–4x + 3y = –12

–2x + 3y = –18

22.
y = 3x + 7

y = x – 9

